Hw |
PrdL\uv\\
B ol
4 %w”‘@-\iq¥
N ’ \ﬂ
WMWACA‘:’:O " 1
jﬁ ‘é"q@ b &\l\%?fo‘l\ |

¢ afWW‘”““M
/} g,’_/{ (1)at K’
A
= @- So L)&t A{- - 2)@)A .
/\/{')A{ wnte ﬁ )(H
ashy funchon

(P




et W"(/
\ A (Y VMMQ C(MZ/
A J:o“'> ore ! /\,U')
AW
~ %
Problem 3
& vy 1K

e ) 15K 1K 2

o————




hotkie diflerbal epuabon
X [{: +Al—) :X(%Sf %\ft’)ﬁx SI-DMO,\L?M{'A&MohM

4

.36"
L

v

(X> (ch ~A7<'§ + P, (XFA¥>>/3

{,mv P )))
~ ) ~(P,x) - 17aX
Pﬁw ) - Q(;(K) . (p (X +o1V) = 0 (x) * /
& )—Ai AUk &(Y—AK))
Pss(f“ft;\x P _ Q)( —
- dl 2 oX
£x = 0ot
at = A)(L/o"'

| 2 (%) ol Jiffertnkal e_r(uwﬁo"‘
(X) = '0;_ E e he z?(""-hd“
dx Jishi bkon of mil PM




(x) [X)
e, [ @] -5 petslii
200 \\
Y = (X )
(X -
2 Y’()J{p()() | —lyY
[)C) ) ’{ Y] 2 ,.lo (E (Y.>)
, (i - E"(g J
W
sy X A B b
IR -
I O O R
AN
N N
C
4 of con H(}pfx = £ (=] i C’O)
E( ooo{a,(uﬁ"‘* ,9(: V2 F

= E ('(03270(5}
no cp bl 7O ge
1(7()[ L L ‘zl, 3 \C‘\(ﬁ'\ . Ou(p\cb) = gp(l"‘j?— Y[X)J
CQAW‘OVA(T




TransformaXion o contfwvos Y

X ~N(oD xt raar ems Freeion
g2 L pr T
i X = ‘3;.&-
o K~ 4 61\&
/= e o X YM"’“‘P;‘
= //\ ;M // xj:Mi-O')(
c(v)- pe 7 €OV C A

VMC‘”-‘- or‘\fmf(x)?(5L 7

\ép/ X
1 sy oX
S WCM \37‘”1—




J
j+ /_/\jx '(\77 j(])
] p ()(e (%, xw#)\- P(Ye(‘), v fy))
VEX (7‘) AX = FY (j)Aj
4 Fxlx) o\Fy(j)
v X+ Ax X
[ (\\Q f(x) "'Hﬂ&mﬁ&x
J

= F, (g 4y
%M\oo\’cl«u‘a , i (3 3 \ (3 J \
X~ £)(Oc) 43 = ‘Fij C\j’» Aﬁ@) - Cx[j (j>>j(f)o{j= F\,(g)%jf“y

LY e
‘ N
J ; | . ..)f;i.;'; ,.." ’;—'XLL




X = _fu=p)’
(o (%) olx=/l- e dx = p %o’\%}d
X~ e - o7
: O =]

\3-’ - ] __Cj’/""..)z

= é = 2= e 0

d n);ro’
£x(@

} (‘“‘%(')ii

s
4 =h0) D 15 x) = Fy

vovskone  maAP P
© &/F\Jh
FX ) y[‘j)
e ovdar |
X zps 00" v — ol e 100" vawe Y
Sanne—  RA



o can  Wanferm one VvV b opnvther Vv

J° - — e rondomn vosiales
h
- (%)
)

\ sanpl o v ) V@,ﬁ-%w\l}
_ m o e\t vizonhal

\A L‘% w o \/u*’oi,ca,l)
{/W_y\ 3&5 X
F ()
= — b‘ X — slepe densty
e sume | e
U X F L;&) = A
F'(w W

0\);\»@\/\ o~ q}orw\\’i\k oF a4y Andem Y,wcu*'u/ (U'\C‘“"‘”‘B



